BESKO DUKIN-BESKO

DOUBLE VANE PUMP BT6CC,DC,EC,ED SERIES

shtel &Y ports AW 229 BT6 pumps 5 75522 243 pumpdUtt. ZF pump7t EESHE 7|52
o] 32q ¥F & 4 AFYrh.

Pe S P JISSYAETI|E
! § g ! |
% P1 P2
' 1LY
[ ]
d [
\.
M
BT6CC
B Model HS
BT6C -022 -008 -1 R 00 —C = -00
shaft & cap & design
Series pump pump shaft 3| xut st portttst (MIZH oM seal port size
catridge catridge ZAX)
003, 005, 006 | 003, 005, 006 | 1. key-H|SAE )
008, 010,012 | 008, 010,012 | 5"\ o cpr_pp (Z2 A 2mf) A-19 Ho|x]
BTBCC™ | 014,015 017 | 014,015,017 | "o o "o on | R 2EIH P C Ofi# EX)
020,022 025 | 020,022 025 | > P! L. 23| H = 1 NBR
003, 005, 006 1. key-SAE-C
g;g gé? gg‘s‘ 008, 010,012 | 2. key-HISAE
BT6DC | (%' o2 og5 | 014 015,017, 113 Spine SAE-C B 5
050. 061 020, 022 025, | 4, Spiine HISAE 5 24182
' 028,081 | 5 key-H|SAE
042, 045, 050 ggg g?g g?g 1. keySAE-CC
BT6EC | 052 057,062 | 014, 015, 017, | 2 K& HISAE B
066, 072,085 | 020, 022, 025, | 3 SPline SAE-C
028, 031 4, Spline SAE-CC
014, 020, 024 | 1. key-SAE-CC
042, 045, 050 oo ~
BT6ED | 052, 067 0g2 | 0% B310% | 2. key H|SAE B
038,042 045 | 3. Spline SAE-C
066, 072, 085 050, 061
; 4. Spline SAE-CC
B Port size — BT6CC
code P1 P2 S
00 1" 1" 3
11 1" 34 21/2 @

(1) cap = pump2l OI2EZZ0| 46em/rev0|old AR
(2) M pumpll OISEEEC| & AP 126cm/rev 0151 B2
2 29| catridgeZ &Hatshaft= 01| 5 ol FAAIL.

A-16



BESKO

B Foot BracketZt Flange KittHs

DUKIN-BESKO

= 5 foot bracket flange kitHs"

mode|tH FE2A® i 2 740) . :
<2 -rl—rﬁ' kit H|_'|§ port -_r"o PTLI‘AI‘Q g E g
s 3" JSI4-66939 S14-55163
SAE-B s 212 JS14-66938 S14-55162
BT6CC SAE-BB S14-10785 P1 1 JSI14-66934 S14-55158
2 Bolt P2 17 JS14-66934 S14-55158
P2 | 3/4” JSIA-66933 SI4-55157
SAEc s 3" JS14-66939 SI4-55163
BT6DC - Bt S14-08057 P1 | 11/4” JSIA-66935 S14-55159
° P2 17 JS14-66934 SI4-55158
SAE-C s |31/2 JSI4-551 454 S14-55164
BT6EC SAE-CC SI14-28966 P1 | 11/2 JS14-66936 S14-55160
2 Bolt P2 17 JS14-66934 SI4-55158
SAE-C s 4 JS14-66940 S14-55165
BT6ED SAE-CC S14-28966 P1 | 11/2” JS1A-66936 S14-55160
2 Bolt P2 | 11/4 JSIA-66935 S14-55159

=) (1) sea 2O

= OL—
SANROARE=

(2) SAE J744C.1S0/3019—1
(3) SAE J5180. 1ISO/DIS6162

kit 39

20 —S52 20 FEAIL. &AMl

fon

242 A-45HI0IXIE

HZolAI2.

B MRA o2 Y EHSRE A5t E2 EEAILICE
O|IZEEZ, Z|TAIEUEH, 2TEY S1E23|1T4 rpm = & kg
modeltHS - _ _

shaftZ pump cap= pump z 1 ES S| pump foot
BT6CC BT6C single pump2}l S BT6C single pump2t S 2800 600 26 30.8
BT6DC BT6D single pump?}l S BT6C single pump2l S¢ 2500 600 37 43
BT6EC BT6E single pump&}l S BT6C single pump2} S 2200 600 55 68
BTG6ED BT6E single pump2}t S BT6D single pump2}t S 2200 600 65 79

F) S22 2t Pump2l 2EXH0IM 2l =240/ 80| E/LICH

A-17



BESKO DUKIN-BESKO

B* B
BT6CC M *-022- 014-R 00-C 1-00 - *

n2gsy -«-—— MODIFICATION
BT6CC, BT6DC, BT6EC, BT6ED

—» Mounting W/connection variables

M-MOBILE 1 Shaft seal -——
P-MOBILE 2 Shaft seals
Z-Double raw bearing

& needk bearing (only BT6CC)

BT6CC
W-Severe duty shaft «—— | s | p1] P2
for BTGCC/M & BT6DC/W 00 3 I v P2=3/4" for 46mlfrev. max
- - —8=2 112" for 126mlfrev. max
o1 3 1 3/4 The larger cartridge must be
10 |21/2"| 17 1”7 | always mounted in te front.
REF
oo 11 |21/27| 17 | 34"
*AIZE EE
B* — Bi—directional cartridge
SHAFT < L » SEAL
*SHAFT TYPE &% 1 - S1 (for mineral 0il-0.7bar)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire)
resistant fluids 7 bar)
LT
R - 23H
L -zt —» DESIGNHS

B - BT6DC, BT6EC, BT6ED
C - BT6CC, BT6DCM, BT6ECM, BTGEDM
D - BT6CCM

— > PORT POSITION
PORT POSITION &X

A-18



BESKO DUKIN-BESKO

B SHAFT TYPE

BT6CC BT6CCM BT6CCMW BT6CCP
1 - keyed [non SAE) 1 - keyed (non SAE) 2 - keyed (SAE BB) 3 - splined (non SAE)
3 - splined (SAE BB) 3 - splined (SAE BB) R - keyed special 4 - splined (SAE BB)
5 - splined (SAE BB) 5 - splined (SAE B) T - splined (SAE J718c| 6 - splined (non SAE)
V - keyed special

BT6CCW W - keyed special BT6CCZ
2 - keyed (SAE BB) X - keyed specidal V - keyed

W - keyed

X - keyed
BT6DC BT6DCW BT6DCM BT4DCMW
1 - keyed (SAE C) 5 - keyed (non SAE) 1 - keyed (SAE C) 5 - keyed (non SAE)
2 - keyed (non SAE) 2 - keyed (non SAE) T - splined (SAE J718¢)
3 - splined (SAE C) BT4DCP 3 - splined (SAE C)
4 - splined (non SAE) 3 - splined (non SAE) 4 - splined {non SAE)
BT4EC BT4ECM BT6ECP
1 - keyed (SAE CC] 1 - keyed (SAE CC) 3 - splined {non SAE)

2 - keyed (non SAE) 2 - keyed (non SAE)
3 - splined (SAE C) 3 - splined (SAE C)
4 - splined [SAE CC]) 4 - splined (non SAE)
T - splined (SAE J718c)
BT4ED BT6EDM BT6EDP
1 - keyed (SAE-CC] 1 - keyed (SAE-CC] 3 - splined (non SAE)

2 - keyed (non SAE)
3 - splined (SAE C)
4 - splined [SAE CC)

= hN O N

- keyed (non SAE)

- splined (SAE C)

- splined (non SAE)

- splined (SAE J 718¢)

B PORT POSITION

sTocC bé%ooaacwm
BT6DC >re
BT6EC

B> b S
.Q@@@@@@

P2P1S

A-19



BESKO DUKIN-BESKO

AR
P P2 Mounting Connection
Volumetric Volumetric Max | Standard SAE 4 bolts
Series Cam Ring Displacement | Max Pressure| Cam Ring | Displacement | Max Pressure|speed | SAE J 744c |  Weight | Suction |  Pressure
US gpm cm®/rev in¥/rev | bar  psi | US gpm | cm®/rev in®/rev [bar psi | rpm [1SO 3019-1 Ibs kgs| Inlet Outlet
S P1 | P2
10.8 0.66 10.8 0.66
BT6CC/M | 00310031 o 275 4000 | 00310031 fo 275 4000 | 2800 | SAEB 57 2602/ a3 1 [Ta¥/,
10.00 6.10 100.0 6.10
47.6 2.90 10.8 0.66
BT6DC/M| 014 10 061 fo 240 3500 | 00310 031 fo 275 4000 |2800| SAEC 873 37 N U
190.5 12.11 100.0 6.10
132.3 8.70 10.8 0.66
BT6EC/M| 042 10 085 fo 240 3500 | 00310 031 fo 275 4000 [2200| SAEC 121 55| 3/, |1 |1
269.8 16.4 100.0 6.10
1323 8.07 476 290
BT6ED/M| 04210085 fo 240 3500 | 01410061 o 240 3500 | 2200 | SAEC 146 & 4 v
268.8 164 190.5 12,11
B-B15-4060 psi (280 bar) max int.
C-025,028,031-2500 rpm max. 028, 031 - 3000 psi (210 bar) max int.
D-042, 045, 050 - 2200 rpm max. 050 - 3000 psi {210 bar) max int. 061 - 1700 psi (120 bar) max int.
E-085-2000 rpm max. 1300 psi (90 bar) max int.
Port connection can be fumished with mefric threads on request.
m 45T
BT6CC
&gt ASEX
140 P
130 Fri +—1
120 t_l Fa - / K T - [ T
o _ / SHE 1 1504412 | ]
o shaft code 1 / 04— Pl P2 SABY B N
th 100 T 7 2 AMSRHE : 2cst o
] 90 e - SYUYH - 0.9kgf for* —
= / m ZX2IX| : pump R 1m e
[ 80 T = — -_ ‘OV
W
10 — \ — A\
No ) LT /
~ 60 > 65 —— . 7
[3 50 ,/L B 2 — i
S w / f o
T w / “d
0 } I
0 S00 10001200 1500 1800 2000 2500 2A00 Sl 50 0 0 7 O
334 (rpm) A (kgf/cr)
thrust 3 Fa=200kgf

A-20




BESKO

DUKIN-BESKO

m BT6DC
=] =] o]
58315 4 g5
210 T I 7‘
L l‘r ‘ / ' 75 T
180 i T ERAA: 1504412 l
‘ Pi, P2 SAISY
e | | AIBQEE : 32cst co® L
= shaft code 1 S 0.9gf fo \‘3““ //
o0 140 < SRR : pumpEY 1m r
\v_M/ / E 70 _
/
s / © — Ny
— ~ “QQ(O
KI-O / ] ~ A\
= 8 2 —— _—
fo / 2 -
,c 1
g 0 I ,,<,.‘ \/
—
20 J 60
0
0 600 1000 1200 1500 1800 2000 2200 2500 0o 50 100 140 17520 240
o) AN
3H 4> (rpm) oFe (kg f/cr)
thrust 3 Fa=120kgf
m BT6EC
= =] o =
58515 PRPEE
200 -
180 l // 75 | l ]
Fr SHEN 1504412 -
/ P1, P2 SAISS! WO
= | Fo ABSEE : 32cst -
) — @2 SerEt: 0.9gf for -
v shaft code 1 M < E59IA| | pump R tm
= 20 I ;o
= / = // i V
/ . _ W
N}O s 0] L /‘
g0 B /
o / 2
— 65
3 op ]
g 4
—
20
o 80
0 800 1000 1200 1500 1800 2000 2200 D 5 m 0 15 TR
o) AN
g4 (rpm) e (kg f/cr)
thrust 3 Fa=200kgf
m BT6ED
= =] o =
58515 PRPEEpY
T s
%0 e | I : ’ | A
1 SRR : 1504412 - 1 —
BT b1, P2 sAisy T -
Fr ASREE © 32cst e~
R Sgleret: ookgthr | e
2 | Le - | ZFRI|  pumpR m |
R shaft code 1 f:/ ol /‘f/ |
i 250 | % ‘___/ I \&(9«\
. ‘ | /
Ko / [0} ; |
200 i |
"l_‘J / E i
— 85 : S S——
CE 160 A Oln v}\:/ i
£ d { “
— !
100 ‘
; O —
0 600 1000 1200 1500 1800 2000 2e00 B & 0 0 35 T

3H 4 (rpm)
thrust 3% Fa=200kgf

oF (kg f/cmd)




BESKO

m BT6CC/BT6CCM/BT6CCP/BT6CCZ

DUKIN-BESKO

3/8 16UNC x 0.75 DEEP-4 HOLES

3/8 16UNC x 0.75 DEEP-4 HOLES 1 HOL
N (M10 x 19.0 DEEP) \\

(M10 x 19.0 DEEP)

E-4 HOLES

229
P""

KEY 0.1875/0.1855
(4.762/4.712)
0.06x45°
(1.5x45°)
< 1 - ]
! .
g8z
sld =3
(& se
5|8 213
s (& =
R
/ i
{ / Shaft Code 1 Shaft Code 3 Shaft Code 5
/ " / (Keyed non SAE) SAE B-B Splined shaft SAE B Splined shaft
C DIA PRESSURE / CDIASUCTION | 1.00 DIA PRESSURE _ | Class 1-J498 b Closs 1-498 b
(254) 16/32 d.p. -15 teeth 16/32 d.p. -13 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
10.46
(265.6) 281 6.87
347 ) 4.00 1.50 (71.4) 785)
(88.2) (101.6) (38.1)_| r% 575
| 0.31 +_ 1.50 287 (146.0)
| o 38 KEY 0.250/0.248
| 79) B 6.35/6.30)
. 0.25 MAX / § )
ST e
; B — ] ©3) 1 / V8 X063 DEEP
i | / /o) f
&
- < < ©
o3 3ls s
Rt 8|2 p
pd
2l
1 1 8l i
' 32
| 4
| | 3T
S
28 | |
e | 2ls %
25—2 =
: sg 29
1 gls Flz
T 005 x 45° gls -IF I
_OoxAS &
/ (1.3) <=
| MOUNTING TORQUE 45 ft. Ibs ] MOUNTING TORQUE 117 ft. Ibs
(61 Nm) (159 Nm)
Shaft Code 2

(Keyed SAE 'B-B))

Shaft torque limits inYrev x psi (ml/rev x bar) Shaft torque limits inrev x bsi (mlirev x bar)
Pump | Shaft Code V x P max.( P1+P2) Pump Shaft Code V x P max.( P1+P2)
1 12666  (14300) \% 28937  (32670)
B_?ggg; 3 28937  (32670) BT6CCZ W 28037 (32670)
5 18246  (20600) X 22500 (25400)
BT6CCW
BT6COMW | 2 18972 (21470)
BT6CCMW | T 28937 (32670)
Port  Code A B (¢} D E
S 3" 419 (106.4)| 244 (61.9) | 3.00 (76.2) 5/8"-11UNCx1.12 deep  (284)
S 2%5" 3.50 (88.9) | 2.00 (50.8) 2.50 (63.5) 1/2"-13UNCx0.94 deep (23.9)
P1 1" | 2.06 (52.4) | 1.03 (26.2) 1.00 (25.4) 3.00 (76.2)
P2 3/4" 1.88 (47.7) | 0.88 (224) 0.75 (19.0) | 3.00 (76.2)
P2 1" | 206 (524) | 103 (262) | 1.00 (25.4) | 294 (74.7)

A-22




BESKO

m BT6DC/BT6DCM/BT6DCP

DUKIN-BESKO

5/8 11 UNC x 1.12 DEEP4 HOLES 7/16 14 UNC x 0.9 DEEP-4 HOLES
. (M16 x 28.0 DEEP) \\ (M12 x 23.0 DEEP)
\ \ 288
) (73.2) 3.06
38 16 UNC x 0.75 DEEP-4 HOLES 031 (77.7)
| (10x19.0 DEEP) [ 031
ey | KEY 0.313/0.31 (7.9)
= Cosen 1.89
(7.95/7.90) _ —_
/ L (48)
W 0.09x45" [
i i (2.3x45°) (2.3x45°)
— 7
i
| |
S E 1
|~
1 NS 3
0.09x45° 32 218
- - N 2 L g
(2.3x450) <z == L |
o> Il
Shaft Code 2 Shaft Code 4 Shaft Code 3
—_— 0DIASUCTION | / (Keyed no SAE) non SAE Splined shaft SAE C Splined shaft
(19.0) %ﬁ 5 sueriol 1.25 DIA PRESSURE | Class 1-J498 b Class 1-J498 b
(76.0) (31.8) 12124 d.p-14 teeth 12124 d.p.-14 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
11.26 3.29 836 .
(286) (83.6) (212.3)
) 4.31 4.50 150 0.50 7.13
(109.5) [ (112.3) (38.1) IGEE) MOUNTING TORQUE 138 ft. Ibs (181)
| . 0.31 (187 Nm) 3.56
79 (90.5)
0.25 MAX 1.94
i L
i . (6.35) (49.3) KEY 031300311
f . o ! (7.95/7.90)

- M10 x 0.8 DEEP < ole
3@ = O~ @
alg 35 20.0) 2|2 dg

3 - ST
| e — ElS
i 2l
+— / < 2 S
1 8| - - o@gls -
S Sly 218
~le 62
i <|8
| al=
<la | { ol 2
(g J 0.09x45° S 2l
g - (2.3x45°%) SR 81
&8 Zle
Ej ] e
\ &
o 0.05x45° MOUNTING TORQUE: 138 ft.lbs
(1.3x45°)
MOUNTING TORQUE 59 ft. Ibs Shaft Code 1 (187 Nm)
(Keyed SAE C)
(80 Nm)
3.85
—
(97.8)
2.32
#90) 268
. 328 0.50 | 0.31
0(3513 3) 027 | 150 7.9
— 79 | (38.1)
236 ]
o9 [ oo 0.00K45"
- (59.9) 0.090x45° | 1 2.3x45°
- |
@23%45") | | 0.340/0.338
| KEY0.3130311 ! ) | (8.64/8.58)
P /{/ (7.95/7.90) |
I -
e
— -
l
sl
A ge % g|2
© - = i - |3
S® 33 © 3 | 3R
g 53 =8 ; 5|2 |
U = ;if,’ DIA 1.108/1.098 | b 3 |
ale K
‘ BTGDCP (28.14/27.89) | BT6DCMW
BT6DCW/BT6DCMW Shaft Code 3
0.24
non SAE C Splined shaft Shaft Code T
6.1) Class 1-j498 b SAE J 718C
Shaft Code 5 12/24 d.p.-14 teeth 540 rpm Power take-off.
(Keyed non SAE) 30° pressure angle For farm Tractor application
flat root side fit
[ Shaft torque limits |n3/rev X psi (ml/rev x bar)
Pump Shaft Code |V xP max.(P1+P2)
BT6DC 1 38299 (43240)
BT6DCM 2 34540 (38996)
{
BT6DCW/BT6DCMW 5 49247 (55600) : * Drain hole between double shaft seals
BT6DCMW T 58990 (66600)

A-23




BESKO

BT6EC/BT6ECM/BTGECP

DUKIN-BESKO

3/8 16UNC x 0.75 DEEP-4HOLES 5/8 11UNC x 1.16 DEEP-4 HOLES 1/2 13UNC x 0.92 DEEP-4 HOLES
| (M10 x 19.0 DEEP) (M16 x 29.5 DEEP) i (M12 x 23.4 DEEP)
\ \
\ | 069
| \ (17.5)
245 220
(62.2) (55.9)
031
031 i
() 124 79 150
KEY 0.3126/0.3106 | ~ais ] (38.1)
(7.94/7.89) |
. 0095 )
1= (2.3x45°%) 0.09X45°
| (2.3x45%)
— 7 T ‘ [— . — ) I
————— exf - — —f:‘—— =1— g =1 |
| |
R ‘§. 3| ‘ |
| == 2§
J | g2 3|8 | |
0.09x45° < s 7! | |_
(2.3x45°%) 5
/o 00 DIA PRESSURE 1.46 DIA PRESSURE / Shaft Code 2 Shaft Code 4 Shaft Code 3
(25.4) ey (Keyed non SAE) SAE C-C Splined shaft SAE C Splined shaft
/ Class 1-J498 b Class 1-J498 b
¥3 50 DIA SUCTION 12/24 d.p - 17 teeth 12/24 d.p - 14 teeth
(88.9) 30° pressure angle 30° pressure angle
flat root side fit flat root side fit
13.06 3.58
[ (331.6) (90.9) ‘
1 5.38 467 2.06 | 0.50
(136.7) (118.5) (52.3) [T 27 |
1 o 0.31 ‘ KEY 0.375/0.373
| | 7.9] | X
1 (7.9) 200 (9.52/9.47)
i (50.8)
T | M10 x 0.79 DEEP
; (20.0)
©
BN
« |2 | —_
S | &
7 * £
" T | g%
I [« 8 ‘ <
L o o 3l
- l | 8¢ 83
S 3R
‘ = 1
i J| 3
I . ol =
23 0.09x45° EEREIS
©2 - |8 =8
(2.3x45%) 8ls & ‘ 9
@3 gl Blg -
&
i 0.05x45° =
(1.3x45°%) !
MOUNTING TORQUE 138 ft.Ibs
// MOUNTING TORQUE 50 ftibs Shaft Code 1 87 Nm)
[T T — (Keyed SAE C-C)
(68 Nm)
385
[k ©7.8) ;
i
268 244
LEINI I =)
o 150 031
™ (7.9)
0.340/0.338
"~ (8.64/858) 0.09X45°
(2.3x45%)
8
28 Shaft Code T Shaft Code 3
2|2 SAE J 718C non SAE Splined shaft
DIA 1.108/1.098 ] 540 rpm Power take-off. Class 1-J498b
i 213 For Farm Tractor application 12/24 pitch -14 teeth
(28.14/27.89) .
30° pressure angle
flat root side fit
| Shaft torque limits (in*/rev x psi) (ml/rev x bar) }
o [
Pump Shaft Code ! V x P max. ;
1 64044  (72306)
BTGEC 2 | 30638 (34590)
BT6ECM = T
3 | 54207  (61200) * Drain hole between double shaft seals
BT6ECP 3 54207 (61200)
BT6ECM T | 63256  (70400)

A-24




BESKO DUKIN-BESKO

BT6ED/BT6EDM/BT6EDP

7116 14 UNC x 0.94 DEEP-4HOLES
\\ (M12x 24.0 DEEP) 4/2 13 UNC x 0.92 DEEP-4HOLES
\ (M12 x 23.5 DEEP)
5/8 11 UNC x 1.18 DEEP-4HOLES \ 069 244
\ T (M16 x 30.0 DEEP) \ ars) ©20)
\ 3.06 141 031 220 245
\ 119 X ; \\ —— (55.9) "W—‘
\ (30.2) | o5t 031
\ . -
\ 79 150 @9 ™ 124 |
\ — - KEY 0.3126/0.3106 (38.1) i 31.5)
[ (7.9417.89) i
It
0.09X45°
0.00X45° ™ (2.3x45°%)
1} *‘ (2.3x45°)
| _
= E= i
- | =4-4 = -
b
EAES EZ
|2
<2 |
L &3 8l
(< o L
009us” || B
— (2.3x45°)
| /
1.16 DIA PRESSURE | 4.00 DIA SUCTION 1.46 DIA PRESSURE /
146 DIA PRE /
(29.5) (101.6) 37.0)
Shaft code 2 Shaft code 3 Shaft code 4
(Keyed non SAE) SAE C Splined shaft SAE C-C Splined shaft
Class 1-J498b Class 1-J498b
12124 pitch-14 teeth 12124 pitch-17 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
358
14.22 o %05
(361.2) 09)
5.84 5.26 206 05
(148.3) (133.6) T 23 (12.7)
2.00
e ]
_ (50.8)
I - } [ KEY 0.375/0.373
| s ‘ (9.625/9.475)
JG ai 2 & /| wioxoropeer ¥ <
€ 3q
3,% — < % / /(200 | E ~
8|
7 i | Sie
| A -3 |
‘ | Tﬁ < Zg 1
5 _ % 8§
e 77777;777771{,7777771( S | 4 sa 83 —
P ey 8¢ a8
| | 1 "TEE
| ‘ 0.09X45° 8=
23 P (2.3x45°) 1 |
IR - 2lg 8| _x \
® g tei.
| T | HEERS
L ] Zleels
7 : 0.05X45° 28
/ (1.3x45°) /|
/ MOUNTING TORQUE: 138 ftlbs / MOUNTING TORQUE: 138 filbs
(187 Nm) (187 Nm)
.+_1 Shaft code 1
: (Keyed SAE C-C)
268
680) | 244
0.31 (68 ‘ (62.0)
9 T 1.50
| 027
/(68)
0.340/0.338 028 .
“ (8.64/8.58) 70 0.09x45
| (2.3x45°)
oo L
Vi T 5/
| /
o) § \;
r 1
8l
| 2R
| =
2|2
58
DIA1.108/1.098 | zls BT6EDM BT6EDP
22
(28.14/27.89)
= Shaft Code T o Shaft Code 3
SAE J718C /s 53) non SAE Splined shaft
3 540 rpm Power take-off. Class 1-J498 b
Shaft torque limits in"/revxpsi (ml/rev x bar) For Farm Tractor application 12124 pitch -14 teeth
30° pressure angle
Pump Shaft Code V x P max. (P1+P2) Flat root side fit
64044 (72306
BT6ED ( )
2 30638 (34590
BT6EDM ( )
3 54207 (61200)
i
3 54207  (61200) * Drain hole between double Shaft seals
BT6EDM T 62356 (70400)

A-25




